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1. Choose the correct one/Answer the
following : 1x8=8
(@) In perfect competition, perfect

knowledge about the market implies

(i) consumers know prices
(ii) producers know costs
(iii) workers know wage rate

(iv) Al of the above

over )

P13—4000/90 ( Turn



()

(©)

(d)

(e)

(2)

Tl?e shut-down price is equal t

() average cost :

(1) marginal cost

(z:ii} average variable cost

(tv) marginal revenue

Which o i

has canlyf 5?12 %’3;;?8 R
(i) Monopoly

(i) Discriminati ‘

(iii) Monopsi::;tmg M°n°p°1y
(iv) Duopoly

g:lr?)du:m SRty
' ed the concept
() Hawley

(it) Marshaj]

(i) Ricardo

(iv) Keynes

following  has
of Quasi-rent?

Mention one
discrim;i
ISCrimination

() Wha
t fact
firm in mOrs give monopo]
o Onopolistic COmpgt lél_ower to a
ho deve ition?
1
Profit? °Ped Innovatiop Th
(h)  Ment;
ntion th
(&} : . € COnd' .
quilibrium jn prOdulz:-m GO )
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Write short notes on any four of the following
(within 150 words each) :

(@)
(b)
(c)
(d)
(e)
1)

(@)

(b)

(b)

( Continued W12 4000/90

(3)

4x4=16

Sources of monopoly power
Scarcity vs. differential rent

Adding-up cOntroversy
Collective bargaining

Breakeven point

Bilateral monopoly

Discuss the equilibrium of a firm under

perfect competition both in the short

run and long run with the help of &

suitable diagram. 11
Or

curve for competitive

law of supply-

long-run supply

r increasing cost
5+6=11

Short-run supply
industry satisfies the
Why? Also show how
curve is derived unde
industries.
ssary conditions of
? Show how a profit
ting monopolist
between two

What are the nece
rice discrimination

maximizing discrimina

allocates his output _
kets and charges different prices.
i 4+8=12
Or

a monopoly and a

stinguish between .
rrl?llosnof;)ny market. Explain long-ruf i~
jum of & monopoly firm- +8=

equilibr



(4)

S. (@) Explain, with the help of diagram, price
and output determination in a :
monopolistic competitive market. 1

Or

(b) * Define oligopoly. What are its
characteristics? Briefly explain different
types of oligopoly. \ 2+4+5=11

Distinguish between MRP; and VMPy .
How is wage rate determined under the
condition of monopolist in the product

market and perfect competition in the
labour market? 2+9=11

Or

(b) Explain critically

Keynes Theory of
Interest.

il

What is general equilibrium? Explain

general equilibrium  of an exchange

economy. 3+8=11
Or

(b) What IS meant by interrelations and

of market? Tlustrate

MP13—4000/9¢ e e
DC ECO



